
連立方程式 ①  答え 数楽の家
https://suugakunoie-fukuoka.com/

☆ 次の 連立方程式 を解きましょう。

ቊ８𝑥
８𝑥

５𝑥 ＋２𝑦 ＝－１

－５𝑥 ＋３𝑦 ＝11
⑧ ቊ８𝑥

８𝑥

𝑥 ＋２𝑦 ＝10

𝑥 －３𝑦 ＝０
⑨

ቊ８𝑥
８𝑥

𝑥 ＋𝑦 ＝ ４

𝑥 －𝑦 ＝ ８
①

２𝑥 ＝12

＋

𝑥 ＝６

𝑥 ＋𝑦 ＝ ４ に代入

６ ＋𝑦 ＝ ４

𝑦 ＝ －２

（ 𝑥 、𝑦 ）＝ （ ６、－２ ）

ቊ８𝑥
８𝑥

２𝑥 ＋𝑦 ＝15

𝑥 ＋𝑦 ＝５
②

－
𝑥 ＝10

𝑥 ＋𝑦 ＝ 5 に代入

10 ＋𝑦 ＝ 5

𝑦 ＝ －５

（ 𝑥 、𝑦 ）＝ （ 10、－５ ）

ቊ８𝑥
８𝑥

３𝑥 ＋𝑦 ＝８

８𝑥 ＋𝑦 ＝23
③

－
－５𝑥 ＝－15

𝑥 ＝３

３𝑥 ＋𝑦 ＝８ に代入

９ ＋𝑦 ＝ ８

𝑦 ＝ －１

（ 𝑥 、𝑦 ）＝ （ ３、－１ ）

ቊ８𝑥
８𝑥

𝑥 ＋２𝑦 ＝６

𝑥 － 𝑦 ＝－６
④

３𝑦 ＝12

𝑦 ＝４

𝑥 ＋２𝑦 ＝６ に代入

𝑥 ＋８ ＝ ６

𝑥 ＝ －２

（ 𝑥 、𝑦 ）＝ （ －２、４ ）

－
ቊ８𝑥
８𝑥

３𝑥 －４𝑦 ＝－９

５𝑥 ＋４𝑦 ＝49
⑤

８𝑥 ＝40

＋

𝑥 ＝５

５𝑥＋４𝑦 ＝49に代入

25 ＋４𝑦 ＝ 49

４𝑦 ＝ 24

（ 𝑥 、𝑦 ）＝ （ ５、６ ）

𝑦 ＝ ６

ቊ８𝑥
８𝑥

𝑥 －𝑦 ＝15

３𝑥 ＋𝑦 ＝９
⑥

＋
４𝑥 ＝24

𝑥 ＝６

３𝑥＋𝑦 ＝９に代入

18 ＋𝑦 ＝ ９

𝑦 ＝ －９

（ 𝑥 、𝑦 ）＝ （ ６、－９ ）

ቊ８𝑥
８𝑥

𝑥 － 𝑦 ＝20

𝑥 －４𝑦 ＝２
⑦

－
３𝑦 ＝18

𝑦 ＝6

𝑥 －𝑦 ＝20 に代入

𝑥 －６ ＝ 20

𝑥 ＝ 26

（ 𝑥 、𝑦 ）＝ （ 26、６ ）

＋
５𝑦 ＝ 10

𝑦 ＝ ２

５𝑥 ＋２𝑦 ＝－１ に代入

５𝑥 ＋４ ＝ －１

５𝑥 ＝ －５

（ 𝑥 、𝑦 ）＝ （ －１、２ ）

𝑥 ＝ －１

－
５𝑦 ＝ 10

𝑦 ＝ ２

𝑥 ＋２𝑦 ＝10 に代入

𝑥 ＋４ ＝ 10

𝑥 ＝ ６

（ 𝑥 、𝑦 ）＝ （ ６、２ ）

※ 解答は一例です。


